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9.8 systems of linear and quadratic equations worksheet answers
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NINDI WIAM [IMIY-<'N DY N'OITI00N MIXD .'VI2M 102 500 [IMY-'X XN YA (FIY-'X .N'07TI00 MIXA 'WVIANA [FIY-'K 129 D0 [ITHY-'N N2 (MWD 'O NK 9'ON): ax2+bx+c&lt;0ax2+bx+c<0 ax2+bx+c=&gt;0ax2+bx+c&lt;0ax2+bx+c<0 ax2+bx+c=&gt;0ax2+bx+c=0 N'VIAM N'Xpaid Sw qian f(x) = ax2 + bx + ¢ = 0 'MN D'DXIY 1IX TWKD .N2121D NIN ax2 + bx +
c &lt; 0,= we= are= asking= when= is= f(x)=&gt; &It; 0.= we= want= to= know= when= the= parabola= is= below= the= x-axis.= when= we= ask= when= is= ax2= += bx= += c=&gt; 0, 'Mn 0'>XI¥ 11X f(x) &gt; 0. N 1'X YN NXXNI N2I121DN NN NYTY O'XN INIR-Y. 1NDY x2-6x &lt;&gt; &It;0 graphically.= write= the= solution= in= interval= notation.= @=
solve=&gt;&lt;/0&gt; &lt;&gt; &It;0 graphically and ® write the solution in interval notation. (@ Solve x2—-8x+12>0x2-8x+12>0 graphically and ® write the solution in interval notation. We list the steps to take to solve a quadratic inequality graphically. Step 1. Write the quadratic inequality in standard form. Step 2. Graph the function
f(x)=ax2+bx+c.f(x)=ax2+bx+c. Step 3. Determine the solution from the graph. In the last example, the parabola opened upward and in the next example, it opens downward. In both cases, we are looking for the part of the parabola that is below the x-axis but note how the position of the parabola affects the solution. Solve —x2-8x-12<0-x2-8x-12<0
graphically. Write the solution in interval notation. The quadratic inequality in standard form. —x2-8x-12<0-x2-8x-12<0 Graph the function f(x)=—x2-8x-12f(x)=—x2-8x-12. The parabola opens downward. Find the line of symmetry. x=—b2ax=-b2a x=--82(-1)x=—-82(-1) x=—4x=—-4 Find the vertex. f(x)=—x2-8x-12f(x)=-x2-8x-12
f(-4)=—(—4)2-8(-4)-12f(-4)=—(-4)2-8(-4)-12 f(-4)=-16+32-12f(—4)=—16+32-12 f(-4)=4f(-4)=4 Vertex (—-4,4)(-4,4) graphically= and= (&= write= the= solution= in= interval= notation.= @)= solve= x2-8x+12>0x2-8x+12=0= graphically= and= (&)= write= the= solution= in= interval= notation.= we= list= the= steps= to= take= to= solve= a= quadratic=
inequality= graphically.= step= 1.= write= the= quadratic= inequality= in= standard= form.= step= 2.= graph= the= function= f(x)=ax2+bx+c.f(x)=ax2+bx+c. step= 3.= the= solution= from= the= graph.= in= the= last= example,= the= parabola= opened= upward= and= in= the= next= example,= it= opens= downward.= in= both= cases,= we= are= looking= for=
the= part= of= the= parabola= that= is= below= the= x-axis= but= note= how= the= position= of= the= parabola= affects= the= solution.= solve= —x2-8x-12<0-x2-8x-12<0= graphically.= write= the= solution= in= interval= notation.= the= quadratic= inequality= in= standard= form.= —x2-8x-12<0-x2-8x-12<0= graph= the= function=
f(x)=—x2-8x-12f(x)=—x2-8x-12. the= parabola= opens= downward.= find= the= line= of= symmetry.= x=—b2ax=-b2a x=—-82(-1)x=—-82(-1) x=—4x=—4 find= the= vertex.= f(x)=—x2-8x-12f(x)=—x2-8x—12 f(-4)=—(—4)2-8(-4)-12f(—4)=—(—4)2-8(-4)-12 f(-4)=—16+32-12f(-4)=-16+32-12 f(-4)=4f(—4)=4 vertex= (-4,4)(—4,4)=&gt;&lt;/0 graphically and ® write
the solution in interval notation. (@ Solve x2-8x+12>0x2-8x+12>0 graphically and (® write the solution in interval notation. We list the steps to take to solve a quadratic inequality graphically. Step 1. Write the quadratic inequality in standard form. Step 2. Graph the function f(x)=ax2+bx+c.f(x)=ax2+bx+c. Step 3. Determine the solution from the graph. In the
last example, the parabola opened upward and in the next example, it opens downward. In both cases, we are looking for the part of the parabola that is below the x-axis but note how the position of the parabola affects the solution. Solve —x2-8x-12<0-x2-8x-12<0 graphically. Write the solution in interval notation. The quadratic inequality in standard form.
—Xx2-8x-12<0-x2-8x-12<0 Graph the function f(x)=—x2-8x-12f(x)=-x2-8x-12. The parabola opens downward. Find the line of symmetry. x=—b2ax=-b2a x=—-82(-1)x=——82(-1) x=—4x=-4 Find the vertex. f(x)=—x2-8x-12f(X)=—x2—-8x-12 f(—4)=—(-4)2-8(-4)-12f(-4)=—(-4)2-8(-4)—-12 f(-4)=—16+32-12f(-4)=-16+32-12 f(-4)=4f(-4)=4 Vertex (-4,4)(-4,4)
&gt; +8&It;/0ax2+bx+c<0&gt; &lt;/0ax2+bx+c<0&gt; &lt;/0ax2+bx+c<0&gt; X-intercepts. Give f(x)=0f(x)=0. --x(x)=-x2-8x-12f(x)=-x2-8x-12 0=-x2-8x-120=-x2-8x-12 Factor. Use the Zero Product property. 0=-1(x+6)(x+2)0=-1(x+6)(x+2) x=-6x=-2x=-6x=-2 parabola graph. x-intercepts (-6,0),(-2,0)(-6,0),(-2,0) determine the solution from the graph. We include X-
interception as the inequality is more or less equal. (-o,6]U[-2,0)(-0,6]U[2,0) (a) solve -x2-6x-5&gt;0-x2-6x-5&gt;0 graphic and (b) write the solution in a spacing score. (a) graphically solve the x2+10x-16<0-x2+10x-16<0 graphically and (b) write the solution in a spacing score. The algebraic method we will use is very similar to the method we used to solve
rational inequality. We will find the critical points of inequality, be the solutions to the related quadrhicity equation. Keep in mind that polynomial expression can change symbols only when the expression is zero. We use the critical points to divide the number line into intervals and then determine whether the square expression is postive or negative at the
interval. We then determine the solution to inequality. Solve the x2-x-12>0x2-x-12>0 algebraically. Write the solution in incitement at intervals. Solve x2+2x-8>0x2+2x-820 algebraically. Write the solution in incitement at intervals. Solve x2-2x-15<0x2-2x-15<0 algebraic. Write the solution in incitement at intervals. In this example, because the expression x2-x-
12x2-x-12 factors beautifully, we can also find the mark at any interval like we did when we solved rational inequality. We find the mark of each of the factors, and then the mark of the product. Our number line wants this: the result is the same as we found in the other method. We'll finally recaluity the steps here. Step one. Write the square inequality in a
standard way. Phase two. Set the critical points - the solutions to the related quadrhicity equation. Step 3. Use the critical points to divide the number row into intervals. Step four. Above the line of number, display the symbol of each square expression by using check points from each interval replaced by the original inequality. Step 5. Determine the intervals
where inequality is correct. Write the solution in incitement at intervals. Solve x2+6x-7>0x2+6x-7=0 algebraically. Write the solution in incitement at intervals. Write the square inequality in a standard way. -x2+6x-7=0-x2+6x-7=0 will multiply both sides of inequality by -1-1. Remember to reverse the inequality mark. x2-6x+7<0x2-6x+7<0 determined the critical
points by resolving the related square equation. x2-6x+7=0x2-6x+7=0 Write the square formula. x=-b+b2-4ac2ax=-b+b2-4ac2a, and then replace the values of a, b, ca, b, ¢. x=(-6)%(-6)2-4-1+(7)2-1x=-(6)£(-6)2-4-1-(7)21 raided. '">p' TN NX LWD. X=6+£222x=6+222 2, NIYNN DIIAN NN 10N, X=2(3+2)2x=2(3+2)2 Xx=3+2x=3+2 X= 3+2Xx=3-2Xx=3+2X=3-2
x=1.6x=4.4x=1.6x=4.4 |NT NINN2 NNDNA [INNDN NX 2IND .NAIDIN NIIDIN DNAY D'NINAN DX VAP .IPAN [MIYN-'XA [AT 'NINA 20N NP2 D0N AT 'NHNNS DD0NAN 1P NX P2NY 12 NIF0MPN NITIRIA WNNWN. -X2+6X-720-x2+6X-7=0 1IND [3-2,3+2][3-2,3+2] 121'aN NINN2 -X2+2x+1=>0-x2+2x+1>0 NN 1IND .|N7 'NINN2 NNDNA [NNDN NN 2IND .'O10A0K &It &gt; -n
0x2-3x+4&gt;0&It;0 algebraically.= write= the= solution= in= interval= notation.= the= solutions= of= the= quadratic= inequalities= in= each= of= the= previous= examples,= were= either= an= interval= or= the= union= of= two= intervals.= this= resulted= from= the= fact= that,= in= each= case= we= found= two= solutions= to= the= corresponding= quadratic=
equation= ax2= += bx= += ¢=0. these= two= solutions= then= gave= us= either= the= two= x-intercepts= for= the= graph= or= the= two= critical= points= to= divide= the= number= line= into= intervals.= this= correlates= to= our= previous= discussion= of= the= number= and= type= of= solutions= to= a= quadratic= equation= using= the= discriminant.= for=
a= quadratic= equation= of= the= form= ax2= += bx= += ¢=0, a#0.a#0.= the= last= row= of= the= table= shows= us= when= the= parabolas= never= intersect= the= x-axis.= using= the= quadratic= formula= to= solve= the= quadratic= equation,= the= radicand= is= a= negative.= we= get= two= complex= solutions.= in= the= next= example,= the= quadratic=
inequality= solutions= will= result= from= the= solution= of= the= quadratic= equation= being= complex.= solve,= writing= any= solution= in= interval= notation:= @= x2-3x+4=&gt;(2) x2-3x+4<0x2-3x+4<0 (N2'A1 MIX2 'VI2N "IN 'K DX 2IND (K. -X2-3x+4&gt;0-x2-3x+4&gt;0 MIWPN N'YIAN IRIWAN [INND 'T-5Y NI'0Mpn NITIRIN NX Yap. x=b+b2-
4ac2ax=-b+b2-4ac2a 5w D'DIVN NN 9'2NNY [DN INKYI 4, b, ca, b, ¢c. x=(-3)+(-3)2-4:1(4)2:1x=(3)£(-3)2-4-1-(4)2:+(-3)% 1+ D |NNON NX KIXNS 12'OV D'2D1IN NIINND DP'RN X DYN MNAD NNXNI. N21201DNY 129 INIX DT .NOYN '920 NNNDI 1212190, |2 10D .£+p TN NN VWD- X2-3x+4&gt;0.x2-3x+4&gt;0. DW D'DIVN 2D 1AV (1IN XX N X VN XX AN- X, 2D

OV 0'DIVN X 2'A1 0DI0A 'WVIANN 'MW 'R DX QNI (Q) .(00,00=) .(0,00-) D'ANID 1IX NINNA [I'X .[IDID [I'IYN 'N NN D'IDIN.X2-3x+4<0 NNIYPN NIYVIAMN NIXIWAN [NND "T-5V NIF0NIpN NITIPIN NN YApx2-3x+4=0N'01TI00 NIX] VAN (YD X 2IND.x2-3x+4<0 NNIYPN NI'VIANN NINIYNAN [INND FT-DV NI'0MpN NITIRIN NX VIApHx2-3x+4=0 NNIWNN TNN
N'I2N&It/0&gt; NN N212150 L,(X) PONY NNt NN'RNNNThe parabola opens upwards and is completely above the< x-axis — no part of it is below the x-< axis. Because for all x values the graph is never below the x-axis, no x values make the inequality correct. There is no solution to inequality. Solve and write each solution with a spacing score:(a) -x2+2x-
4<0-x2+2x-4<0 (b) -x2+2x-420-x2+2x-4=0 Solve and write each solution with a spacing score:(a) x2+3x+3 &lt;&gt; &It;0 (b)= x2+3x+3=&gt;0x2+3x+3&gt;0 Section 9.8 Exercises solve square inequality graphically in the following exercises, (a) graphically solve and (b) write the solution with a spacing score. 364. 367. 368. 369. 370. In the following exercises,
solve any inequality in an algebraic way and write each solution with a clear score. 373. 378. 379. 381. -6x2+19x-10=0-6x2+19x-10=0 382. 383. 384. 388. 389. 390. 391. Explain critical points and how they are used to solve quadratic inequality in an algebraic way. 392. Solve x2+2x=>8x2 +2x=8 both graphically and algebraically. Which method do you prefer,
and why? 393. Describe the steps needed to solve square inequality graphically. 394. Describe the steps necessary to resolve square inequality in an algebraic way. (a) After completing the exercises, use this list to evaluate control the purposes of this section. (b) On a scale of 1-10, how would you rate your control over this section in light of your comments
on the list? How can you make it better? 1t? &lIt;/0&gt;
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